Math 75A Maria Nogin
Practice test 2

The actual exam will consist of 6 multiple choice questions and 6 regular problems.
You will have 50 minutes to complete the exam.

Multiple choice questions: circle the correct answer

1. Solve for x: log% x = 3.

A.6 B. ; C.8 D. §

E. None of the above
2 H tical totes does th L ave?

. How many vertical asymptotes does the curve y = ave
Y YHp YT 2@+ 2)(z +3)

A.0 B.1 C.2 D.3 E. 4
3. 1i =

:vl—% x— 2

A.0 B.5 C. © D. — E. Does not exist
4. lim r+2 =

z——o0 31 + 4

A.1l B. % C. % D. 0 E. Does not exist

—x—1 ifz<-1
5. The function f(z) =4 0 if —1<z<1 is
T ifx>1

A. continuous everywhere

B. continuous at 1 but discontinuous at —1

C. continuous at —1 but discontinuous at 1

D. continuous at all points except for 1 and —1

E. discontinuous everywhere

6. Find the rate of change of y = 3z + 5 at v = 4.

A. 3 B. 4 C.5 D. 17
E. None of the above

7. Find the equation of the line tangent to the curve y = 22 at (2,4).
A.y=A4x B.y=4zr—-4 C.y=4x+14 D.y=—-4z E.y=—-4z—-14



Regular problems: show all your work

8. Solve the following equations:
(a) In(bz —2) =3

(b) €3+ =100

(c) logyt+logy(t+1) =1
(d) 10%*+ = 300

9. Evaluate the limits:

(a) QIELI% (Tx — 25)

3 + 22
b) lim ——M—
(b) mi@1x2+3x+2

(¢) lim 3—Vituw

x—0 €x

(1)

lim ——mm——
b0 42 + 322 -3

503 —x —3
() Jim S
z—o0 472 + 3x — 3
422 +5
(k) th
z—oo 3T — 3
42 +5

) 1
() :c—1>r—noo 3r— 3

(m) lim (3 — =z + 2% — 52%)

r—00

(n) lim (3 —z+ 22 — 52°)

r——0Q0

10. Show that the equation x® — 4z + 2 = 0 has at least one solution in the interval (1,2).



11.

12.

13.

Find all values of ¢ such that the function

wo={, ¥ 03
UFCRIEA I

is continuous everywhere.
Find the vertical and horizontal asymptotes of f(z)

Find the following derivatives:

(@) £ i () =5
(b) f'2) i f(r)=Tr—3

() F'(3) it f(s) = +5s—6
(@) 5/(4) i 5(6) =V

(©) F(3) it f(r)=">

(r+2)(3x — 4)

(x=5)(x+T7)"



